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SIXTHSEMESTER

COMPUTER SCIENCE AND ENGINEERING/
INFORMATION TECH.

SCHEME JULY 2009
ARTIFICIAL INTELLIGENCE & EXPERT SYSTEM

Time : Three Hours Maximum Marks : 100

Note : 1) Attempt total Six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

T B: UE FA 0| 099 FAHE 1 (TGEE
TR ) AT 2 9 uedl J ¥ [ FE e #6
ZH FitAa|

ii) In case of any doubt or dispute, the English
version question should be treated as final.

Rl ot TER & ez yya HarR & Ruf |

SR TS F A9 A AT |JE SR
1. Choose the correct answer., 2 each
HE T &l 749 HIAT
FHé
S/2014/6385 PT.O.

https://www.rgpvonline.com

i)

@

When & 1s a branching factor and d is depth, the
time complexity of depth first search is:

(a) O(b%) (b) O(b)

(c) O(b*) (d) None of these

74 b branching factor @41 d, depth @& depth
first search 3 time complexity &Fill

() O (b*) (@) O (b)
(/) O (b%) (%) Soem & ¥ FE &
A flat area of the Search space in which all

neighbours have the same value is known as:

(a) Local maximum (b) Plateau

(c) Ridge (d) None of these
Search space #1 flat area TG Tt neighbours
F W9 value BT 2, T &7

() Local maximum (7) Plateau

(@) Ridge (%) I & & &0 7@

ii1) There are conditions through which A* algorithm

will become breadth first search
(a) Ifthe value of h'is 0
(b) Ifthe value of g is always 1
(c) Ifthe value of g is always 0
(d) None of these
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S/2014/6385 Contd.....

https://www.rgpvonline.com



(3)

3% conditions AF A* algorithm, Breadth first
search ¥ 7% ZFER F1 2l
(F)F4 h' F value 07
(3) 74 g i value Z8aM 1 81
(|) 7@ g F1 value FHIM O &
(3) SR ® ¥ FZ TE
A special case of Frame structure:
(a) Semantic net (b) Script
(c) both (a)and (b) (d) None of these
Frame structure &1 fa99 TR 2:
(31) Semantic net (]) Script
(m)2ei (w)a(a)  (3) @R A EIE A
Major component of a game playing program is
(a) A plausible move generator
(b) A static evaluation function generator
(c) both(a)and (b)
(d) None of these
UF game playing program & major component
-
(#) A plausible move generator
(q) A static evaluation function generator

(7) 31 () @ (3)
(z) Tm | ¥ FE T

S/2014/6385 '.}'-I% FT.O.

https://www.rgpvonline.com

b)

¢)

b)

(4)

Define and explain the meaning of term "Artificial
intelligence”. 6

" Artificial intelligence” 7% &1 Hawd T30 T
T ufsig st Ffe)
What are the characteristics of Al problems? 6

Al problems # a1 fagrgand 2t &) Tafaa?
What is Al techniques? Explain. 6

Al techniques T 27 TRETEA|

Explain DFS and BFS. Compare DFS and BES,

also write advantages and disadvantages of DFS
and BFS. 14

DFS @1 BFS %1 @@mgul DFS @ BFS &t 3ad
# ger AT I DES T BFS & 719 a1 #di
o feriaal

Explain Production System in short? 4

Production System &t &g & T4l

Explain minimax search procedure in game
playing with example. 9

Game playing ¥ minimax search procedure !

JeTE0r wiga TR
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() (6)

b) ExplainAlpha-beta cut off? 9 7. a) What are the different areas of Expert system?
5
Alpha-beta cut off 1 FHTET
P Expert system & [i%= area & % foRaa)
5. a) What are the essential characteristics of b) What is Life Cycle of expert system? 9

' . ?
Kn.owledge representation systems? Also Expert System %1 313 % &1 27
write some common schemes of knowledge

representation. 10 ¢) Write short notes on MYCIN? 4
Knowledge representation i &1 Jea f9wamd MYCIN 7 gferg ool &g ?
11 21 3% I@Er Knowledge representation &l
8 common schemes ¥ 9 TrEa| 8. Write short notes on the following (any 3) 6 each
b) Define the following in short? 8 i w wiera feafmt e (FE-3)
(i) Scripts (ii) Semantic nets (a) Hill climbing
T Tt = 989 | TaEul (b) A*Algorithm
(i) Scripts (ii) Semantic nets (¢) Resolution
(d) Water jug problem
6. a) Whatisthe role of NLP in Artificial Intelligence? (e) Conceptual Dependency
Explain. 9 (f) Heuristic function
Artificial Intelligence # NLP & &1 role 7
qaEEa|
b) Explain RTN Parser? 9 B ale s o
RTN Parser &l T9=ET|
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